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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole -4
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole -4
1.7 »
2\y _
16| 10910(A(P?)) = 1.0785l0g10(Q) - 1.4553
R =0.9081
154 -— - | |
= Ng 14 -
E d
SR ST
" °
-3
v
1.2 4
1.1 1-
O
10 , . , : ‘ , . . | | ]
2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80 2.85



Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole -4
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with-the ordinate intercept nearly zero,
there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole -3
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Final check for high velocity flow effects:
High velocity flow effects are presept when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole -2
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
-~ V4 Transect: Drillhole -2
2.2 | _
2.1 . 2 | | | O
log1o(A(P?)) = 1.126110g4(Q) - 1.1883
ol R? = 0.9201
1.9
‘r
3
2 18
e
o)
L)
1.7 1~
16
MR TR e R
Ty |
1.4 — , - : , f — ; ; , :
2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 275 2.80 2.85 2.90
log10(Q)

| O log(D(P2)) =Linear (log(D(P2))) =—Linear (log(D(P2))) |




Gojou | 10 'WNY)

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole -2
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
) there is no high velocity flow effect.
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A(P)IQ, psia®/(cc/min)

logse(A(P?)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are presefit when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 0
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 0
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 1
28 Y
e A(P?) = 9E-05Q° - 0.0464Q + 13.062
R®=1
20
= , I ‘ 1
2 2 2 \
> % A(P?) = 4E-05Q° + 0.0098Q
° 2 R? = 0.9807
2Ry
N o, |
. A(P?) =0.0462Q - 7.5798 | |
L | R”=0.9483 |
4 A(P?) = 0.0325Q | |
R® = 88374 il |
bl i |

100 150 200 250 300 350 400 450 500 550 600 650 700 750
Q, cc/min
\ O D(P2) ==Poly. (D(P2)) =Poly. (D(P2)) —Linear (D(P2)) = Linear (D(P2)) |

Ll



Gojos )10 WY

logo(A(P?))

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 1
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 2
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presencé of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: . E
High velocity flow effects are present when the slope is non-zero and positive. |
|

V4 Transect: Drillhole 2
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero, ‘
there is no hlgh velocity flow effect. '
p V4 Trangect Drillhole 3
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
' high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 3
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 4
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 4
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with-the ordinate intercept nearly zero,
tliere is no high velocity flow effect.
& V4 Transect: Drillhole 5
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
L - V4 Transect: Drillhole 5
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 6
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Log-Log plot of-differenti_al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: _
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 6
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
_ thiere is no high velocity flow effect.
5 V4 Transect: Drillhole 7
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 7
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Final check for high velocity flow effects:
High velocity flow effects are presént when the slope is non-zero and positive.
- V4 Transect: Drillhole 7
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 8
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 8
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 9
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 9
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Final check for high velocity flow effects:
High velocity flow effects are presént when the slope is non-zero and positive.
- V4 Transect: Drillhole 9
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole.10
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity) ‘
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 10
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
~ there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 11
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 11
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 12
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 12
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 12
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
i V4 Transect: Drillhole 13
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 13
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
L V4 Transect: Drillhole 13
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 14
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 14
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Relationship between steady-state differential pressures squared and flowrate:
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‘; If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
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logso(A(P?)

A(P?)IQ, psia®/(cc/min)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are presént when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate: ’
If relationship is linear, with the ordinate intercept nearly zero, *
there is no high velocity flow effect. |
V4 Transect: Drillhole 16 !
120 l : , t ( _ _ ?
| | - : | | ’< ' @ | % |
| A(P?)=0.0002Q%-0.0435Q+31747 |
R*=1 [ T
i ’ { | | ! | I ‘
Z IR
= 754 — 1 = e
a| "Wy A(P?) = 6E-05Q° + 0.1118x| | | / - |
— ' 2 é
¢ & | R?=0.9723 N <~ AP =01472Q | |
S| £ | T ] | /| | R*=0.9563
% | | ~ T
A — T |
1 1 . | - - E nicec) i
" AP’ =0.1535Q-3.5388 | |
R? = 0.9582
0 | | . | | | ] | | . ‘ i
| 0 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 |
g Q, cc/min
' | o D(P2) —Poly. (D(P2)) = Poly. (D(P2)) = Linear (D(P2)) — Linear (D(P2)) |

" Log-Log plot of differential pressures squared vs. flowrate--used to identify the presene of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 16
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Relationship between steady-state differential pressures squared and flowrate:
If relationship.is linear, with the ordinate intercept nearly zero,
p there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 17
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 18
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 18
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Relationship between steady-state differential pressures squared and flowrate:
If relationship js linear, with the ordinate intercept nearly zero,
P there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole 19
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Final check for high velocity flow effects:
High velocity flow effects are presént when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole 20
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole 20

Q, cc/min
| 0 D(P2) ==Poly. (D(P2)) =—Poly. (D(P2)) —Linear (D(P2)) = Linear (D(P2)) |

1.88E-02 | | | | ‘ [ |
| | | | 2/Q = -3E-06Q + 0.0191
182E-02 41— —— —O+ ’ e A(P )/Q 23E Q '
| R =0.5791
1.76E-02 +—e——1— — s — : ;
£ 170E02
I3 l
2
> | ~
= ®© 1.64E-02 +———
= | 0
R o
o\ N l ,
— | ¢ 158602 4—mF+—TF+—
xl NA |
= | Q
i < 202 — T —
1.46E-02 T — S
| \ ; i | O
1.40E-02 i | | | . | | | |
500 600 700 800 900 1000 1100 1200 1300 1400 1500
Q, cc/min
| O D(P2)/Q =—Linear (D(P2)/Q) = Linear (D(P2)/Q) |
- e B D T i -
Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with'the ordinate intercept nearly zero,
thiere is no high velocity flow effect.
A V4 Transect: Drillhole 21
28 ) : ] v H - Il
2\ _ 2
.| |A(P?) = -B6E-05Q° + 0.1277Q - 35.947
R® =1
el 20 }
£ preenmpry— | | | = ”
s W6 By s BE—O6Q +0.0244Q | /= B A(pZ) =0.0271Q
= 723 —_ | |
T e g R*=0.8763 | | | R?=0.8728
? NA N | | |
hd & o] . S I S " A W
< |
| I = N . A(P%) =0.0318Q - 3.8354
| | | | - R*=0.8944
4] | | | |
0 ' a5 ¢ L T LI L ™ T | p—
0 100 200 300 400 500 600 700 800 900 1000 1100

9.

LA





